Area of rectangles @

o The area of each square is 1 om?
Work out the orea of each rectangle.

a) ]
° On the grid, the areo of each squaore is 1 an®
Caolculote the area of each rectangle.
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° Complete the sentences to describe the rectangle. @
There are - TONNS. —
o sl 2 ][ o] EREEREER
Eoch row haos - SQUTres.
- area=| o areas| Fom”
There are| © |squaores altogether.
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° Caloulote the orea of the rectongles.

3cm

° ‘Work out the area of these rectangles.

a} b}
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e How many recdongles can you drow thot hove an area of 24 cm??
Label the lengths. ¥our drowings do not have to be exoct.
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Compore your answers with o partner.

N

e These shapes all have the same areo. Shope & is o square.
Work out the missing lengths.

% lem
B om

e A rectongle has an area of 96 can®
The length of the rectongle is 4 cm longer than the width.
Work out the length and width of the rectongle.

length = [dem width =| Hcm
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Area of compound shapes

e Oin the grid, the area of each square is 1 an?

Calculote the orea of eoch shope.

1 cm
—

a) 15

—
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15
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Jom 5 am N
B 2em
4 crn A
a) Work out the area of rectangle A
area = denr
b} Werk out the area of rectongle B
area =| Do
¢} Work out the area of the compound shape.
area =| 0o
Talk about it with your partner.
° Work out the orea of ench of the following shopes.
Shovwr all your working.
a) b) Tm
4 12 cm N 1
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° Calculate the area of the compound shapes.
a) Mark on the shope how you partitioned it.

8cm
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7cm
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8cm . RE

b) Show how you can partition the shape in two other ways.

8 am i 8 cm

* > b .4
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¢} Alex has calculated the area of the same shape below.

QXN.&
mxwldm
56-15=41 cm?

Explain the method Alex has used.
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° Calaulate the area of these compound shapes.
a)

(&

7 cm 7 cm

—

10 cm

1oy

b) ¢ 14 mm

18 mm

r
— — A
5 mm S mm 200 mm

° The area of this shape is 83 am?
Work out the perimeter of the shape.
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Area of mqﬂmﬂr—_n—q m—._n-ﬂ.mm @ e a) On the grid below, drow around your clossd

hand and estimate the area.

1em Voriows Qunsuwers
—

1
(=)

e On the grid, the orea of each square is 1 om?

Estimate the area of eoch shope.

1 em 1 em
— —

a) Hm b) Hm

— —

° Mo drows two shopes on o om?® grid.

Estimaote the areo of each shape.

1 cm 1cm
— —
a) Jy HH b) L Hm
L1 L1
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h h

Oy s T Ry s

0 em®

Howw did you estimote the orea of b)?
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Talk about it with your partner.




1 cm Each square represents 1 km? of land.

— Vourioen ourSurs.
mH Which island hos the grecter orea ond how much greater is it?
t 1km

b} On the grid below, draw around your open \ N\ ° Hare is the outline of two islands.
hand and estimate the area. r.[\_

-

1
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CI=[1 /] ¥

° This is the outline of o large forest area. @

c) Cormpare your estimotes for o) ond b). Do you notice anything?

Estimaote the orea of the forest. LEDD m 2
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Multiply 2-digits by 1-digit

e Brett uses a ploce value chart to work out 5 x 32

Talk about Brett's method with a partner.
Complete the multiplication.

Sx32= ~®o

Use Brett's method to work out 6 x 34

6x34={ )0

Thursday

° Rosle works out 4 x 37 using a written method.

h | |
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Talk cbout Rosie's method with o partner.

Use Rosle's method to work out 6 x 28
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Tolk about Dani's method with a partner.

Dani uses a different written method to work out 8 x 42
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Use Dani's method to work out 3 x 27
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° Use a written method to complete the multiplications,

a)38x6=|{ NOF € 45x9=
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b) 7t x3=|21% d)52x5=
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° Class 4 is selling tickets for a ploy.
Tickets cost £5 per person.
56 tickets have been sold so for.
How much money has Class 4 collected?

£2%0

° Rosie buys B bunches of flowers. Each bunch has 17 flowers.

How many flowers does she hove cltogether?

[12¢ |




Multiply 3-digits by 1-digit e .,..,.._ o Complete the multiplication.

Use the place volue chart to help you.

0 |O 00| . |"T.°
°° 2|1|58
©® [© |000| -
@) rilip uses o place volue dhart to help him multiply 00 | [6]u4]5
a 3-digit number by a 1-digit number. | ;
B0 NN o °° ° [88°
© ©]@) 000
Q o] 0000
(i) @8] 0000 ° Complete the muttiplications.
: a) 9
a) What multiplication is Filip working out? _ _ - A
120 (=3 ' T_ T o H Tlo wl
b) What is the answer to Filip's multiplication? 333 “ X H . L 5 M
x ., x
GAE AN
. | (] | "
Use piace val ters to lete the multiplications.
° e value counters compiete the mu ﬂ-h s, @ Vv ﬁv s
a)3x213=| {29 d) 6x 106 =| (26 T 7T 1 M 1 11
H(T o KiTtlo
byax216=| 4.4 e) 4x 208 =| Z2L al3]s] W wl
- M - . . .
9 5x106=| 530 N 317x3=| g5 al mdww Xm__,mm.
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e) 3 x 240 ) 7x131
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° A lorry driver travels 156 km per doy.

How many kilometres will the lorry driver hove travelled
ofter 3 doys?

LB

° Ren and Teddy are working out 5 x 245

I know the answer
will be greater than
1,000 because 1 know
5 x 200 s 1,000

I know the answer
should end in 5 because ]
know Sx 515 25

a) Who Is correct? Clrcle your answer.

Ron Teddy ( both neither

Friday

o

b) Use o written method to work out 5 x 245

1235
° There are 7 yeor groups in a school.
There are 112 children in each year group.
How mony children are there In the whole school?
%4

o A banana welighs 140 g
A pineappie weighs 345 g

] 140 g 345 g

Bog A contains 8 bonanas and bag B contains 3 pineapples.

Which bog weighs more and by how much?
Show your working.

Bag O weighs| 45 g more than bog & .




